AlER SO —F 08000080 09000570 09000700 09522740
e 5= J\I&)113A A PR EKEEUKO[MERE FtAE
XEFEHH SH45E10H208| $F4510H198| $F4510H188| $F4510H18H
e 11:15 11:10 15:33 14:30
SREES EERE EERE EERE EERE
BIEHES LETERERER|LETRERELE|LETRERE2R|LETRERESR
RIEHES AHIREEE AhREEE AHIREE(E AhREEE
S HTHEES EhiaiEZ MhinE R EhiaiE 2 MHIRERE
Xix 5 i [ 3
K m 0.3 0.8 3.3 2.9
im °c  |19.8 20.8 19.2 19.5

% RREIKE °c |72 19.9 23.0 22.8

sg) HEAR c_ 172 ___|182 1230 _ [228 _

g [REUE TORVIN=UR |TORVIN=UR |TIRVIN—UIR |TIRVIN—UiK

g SYNE 0~5cmEii 0~5cm=Ei 0~5cmEii 0~5cm=Ei
41 &7 [ b il [
=X B Xt [REE REE
EE AL L HL HL
252 ZNHh Z N ZNHh ZNDith
pH 75 6.7 7.6 7.7

—|[coD mg/g [0.6 1.0 0.4 0.7

% RREE % |0.6 1.1 0.9 1.0

I8 (#mie” mg/g |<0.1 <0.1 <0.1 <0.1

EIERES % 21.8 28.1 223 20.7
bR TN [mv_ [+237 +208 +141 +70
£ 1e/gl4.9 10 3.9 7.3

AR 1 e/g]38 45 28 38

% (8% 1 g/g]8600 11000 6900 8700

B AV 1 g/gl270 260 150 160

BloAl ug/gl1 < A 4
—v)L Ug/g
AREH L 1 g/g]<0.05 0.09 <0.05 <0.05

2 £ 1ueg/gl3.5 8.6 3.5 6.0

= v 0L 1 g/g]<0.5 <0.5 <0.5 <0.5

15 fitR 1 g/g]0.9 3.8 14 2.3

2 Ik ER 1 g/g1<0.01 <0.01 <0.01 0.01
TFILXILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
FTUOE—TEZEHug/s

| BHEBEER |ue/e

D EETEES Ue/g

hEHEER Ue/g

DEEF ug/gl43 80 46 76

T8 (I ER e Ue/'s

S EXE 1 g/g190 180 95 130
EX L e mg/g




AlER SO —F 09625870 09726920 09726940 09623780
M i & [EEZ Z1R% BEFNN RBFIKAE
XEFEHH SH45E10H188| $F4510H188| $#4510H18H| £$F14510H18H
e 13:30 12:15 12:47 15:05
SREES EERE EERE EERE EERE
BIEHES LETERERER|LETRERELE|LETRERE2R|LETRERESR
RIEHES AHIREEE AhREEE AHIREE(E AhREEE
S HTHEES EhiaiEZ MhinE R EhiaiE 2 MHIRERE
Kix & & & &
K m 3.0 2.8 12.0 3.0
im °c  |195 20.8 20.8 19.2

% RREIKE °c  [238 22.2 23.8 22.8

Sl JfE im °c  |238 _ 23.8 _ 23.2 _ 23.0 _

g [REUE TORVIN=UR |TORVIN=UR |TIRVIN—UIR |TIRVIN—UiK

2 EENE] 0~5cmk i 0~5cm*k i 0~5cmk i 0~ 5cmK i
41 &7 b LR 2Lk [
=X 26 26 26 Xt
BE&1 5 m 5 Gy
252 BRIE KRR HRIEKERR BRIE KRR HRiE/KERR
pH 7.0 7.6 7.6 7.2

—|[coD mg/g |56 32 23 31

% RREE % |19.3 8.3 13.5 12.5

I8 (#mie” mg/g |0.9 1.3 0.9 0.4

EIERES % 444 39.5 427 38.9
FibExEM  [mv_ [-313 -402 -375 -338
&l Ue/sgl4d 39 58 41

AR 1 g/gl150 190 230 130

% (8% 1 g/gl27000 24000 29000 24000

B AV ug/gl510 360 400 380

BloAl ug/glb 1 1 <
—v)L Ug/g
HARIH L 1 g/g]0.56 0.32 0.54 0.46

i £ 1 g/gl36 25 38 29

s 7o 0 Ls 1 g/g]<0.5 <0.5 <05 <0.5

UIES pe/g13 5.2 10 13

2 Ik ER 1 g/gl0.13 0.15 0.25 0.12
TFILXILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
FTUOE—TEZEHug/s

| BHEBEER |ue/e

D EETEES Ue/g

hEHEER ue/s

DEEF 1 g/g|1700 1500 1600 1800

T8 (I ER e Ue/'s

S EXE u g/g]590 390 510 450
EX L e mg/g




AlER SO —F 09624820 10000100 32900000
e 5= AXE Hi#EE EERET 213
XEFEHH SH45E10H188| $F4510H198| $F4510H188| £$F45E10H19H
e 13:55 9:35 11:35 17:40
SREES EERE EERE EERE EERE
B EBERE LETREREE(CETREREE|(LETREREERE|LEMREREE
RIEHES AHIREEE AhREEE AHIREE(E AhREEE
S HTHEES EhiaiEZ MhinE R EhiaiE 2 MHIRERE
Xix 5 i [ 3
K m 2.8 0.1 135 2.9
R °c  |195 16.2 21.2 14.3
% RREIKE °c  ]230 17.2 23.2 18.3
| B R °c  [23.0 17.4 _ 23.2 18.8 _
g [REUE TIRUIN=UR |TIRUIN=UR |TIRVIN=UR |TIRVIN—UIK
g SYNE 0~5cmEii 0~5cm=Ei 0~5cmEii 0~5cm=Ei
41 &7 b [ <Lk < ILk
=X B B [REE 2186
BE&1 AL L o Gy
252 ZNDith ZNDith BRIE KRR HRiE/KERR
pH 7.7 7.6 7.8 7.1
—|[coD mg/g [0.8 0.3 16 31
% RREE % |10 0.5 16.4 8.8
I8 (#mie” mg/g |<0.1 <0.1 0.3 0.4
EIERES % 20.3 228 443 37.6
FREExEM  [mv_ [+143 +205 -455 -268
£ 1 g/gl6.4 4.0 43
A AEEN 1 e/g]33 17 230
% (8% 1 g/g]8500 4300 24000
B AV 1 g/g]180 120 450
B|70L4 ue/gl2 1 12
—v)L Ug/g
HARIH L 1 g/g]<0.05 <0.05 0.44
= v 0L 1 g/g]<0.5 <0.5 <0.5
15 fitR te/gl2.1 0.6 6.4
2 Ik ER 1 g/g]0.01 <0.01 0.41
TFILXILKEE | ue/g]<0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01
FTUOE—TEZEHug/s
| BHEBEER |ue/e
D EETEES Ue/g
hEHEER ue/s
DEEF 1e/g]87 30 1800
T8 (I ER e Ue/'s
S EXE 1 g/gl120 35 400
EX L e mg/g




AlEH S a—K
e 1 44 TEE
XEFEHH SF4%E10H20H
RIERSD 12:00
RERESE EERE
B EBERE LETREREE
RIEHES AHIREEE
S IR EHIRIER(E
X% &
IKE m 1.8
im °c  |195
% RREIKE °c  |225
Sl JfE im °c  |225 _
g [REUE TIOR3
2 EENE] 0~5cmk i
5187 i
(=X XER
BE&1 5
2&2 HIEKER
pH 75
—|COD mg/g 7.3
% RREE % |2.6
IE -v’f‘?\ )Il.“:q:% mg/g <0.1
EIERES % 268
FeibiE B |mv [-320
iG] Ue/s
AN Ue/s
L EES Ue/g
B AV ue/s
ERI=FN Ue/s
—vi )L Ug/g
ZJF‘E'?.L\ ug/s
£ ue/'s
BAEIEL [uwe
15 e Ue/g
2 Ik ER ue/s
FILEILKER |ue/s
PCB Ue/g
FTUOE—TEZEHug/s
| BHEBEER |ue/e
N ES Ue/s
hEHEER Ue/s
DEEF ue/s
T8 (I ER e Ue/'s
B £k ug/s
EX L e me/g




AlER SO —F 33000005 33000007 33000010 33000015
e £ Bih%33—5 |G#%33—7 [B#%E33—10 [B#%33—15
XEFEHH SH4E11HIR| £F45E11H9B| £#45E11H9B| £#4%E11H9H
e 11:32 11:21 11:11 10:59
SREES EERE EERE EERE EERE
B TE B &t &t &t &t
R FEABERT (FBABEGHY |(RBARRSGHY (WBAREGHF
7 A R FREAREGHZ WEARSGHT BHARSHE (BWBERESHS
Xz g 5 g 5
IKE m
im °c |17.7 17.7 17.3 17.1
% REKE °C
sg) HEAR °C__J20.1 202 12041 ___ [201 _
g [REUE TIRUIN=UR |TIRUIN=UR |TIRVIN=UR |TIRVIN—UIK
2 S ENE 0~5cm*k & 0~5cmk i 0~5cm*k & 0~5cmk i
41 &7 <Lk <Lk <Lk UL R
=X [RERE 2ixf [RERE [KERE
EE o L HL HL
252
pH 8.0 7.9 7.9 7.8
—|[coD mg/g [25.2 23.8 227 13.6
% RREE % |10.9 9.8 10.7 7.3
I8 (#mie” mg/g |0.40 0.28 0.46 0.16
EIERES % 163.6 51.4 53.8 440
FiE=TTEM  |mV
£ 1 g/gl92 260 68 46
AR U g/g1340 370 250 290
% (8% 1 g/g]31000 32000 33000 24000
B AV u g/g]650 370 410 430
EREI=PN ueg/gl78 70 43 32
—v)L Ug/g
AREH L 1 g/g]0.56 0.39 0.37 0.20
2 g’_a 1g/gl|74.6 79.5 67.1 33.8
B i fitz=FN ug/sl<2 <2 <2 <2
15 fitR ue/gl7 9.8 13 46
2 Ik ER 1 g/gl1.40 1.65 117 0.31
TFILXILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 0.02 0.01 <0.01
FTUOE—TEZEHug/s
| BHEBEER |ue/e
D |fEHEEREE R ue/g
hEHEER Ue/g
DEEF ue/s
T8 (I ER e Ue/'s
B £k ug/s
EX L e mg/g




AlER SO —F 33000019 33000025 33000026 33000028
i B A Eh433—19 |E#h#%33—25 |EHh#%£33—26 [Eihk33—28
XEFEHH SH4E11HIR| £F45E11H9B| £#45E11H9B| £#4%E11H9H
e 10:13 10:05 9:53 9:42
SREES EERE EERE EERE EERE
B TE B &h &t &t &t
R FEABERT (FBABEGHY |(RBARRSGHY (WBAREGHF
7 A R FREAREGHZ WEARSGHT BHARSHE (BWBERESHS
Xz g 5 g 5
IKE m
im °c |17.6 17.4 17.3 16.0
% REKE °C
| B m °c  [20.2 _ 20.4 _ 20.5 _ 20.5 _
g [REUE TIRUIN=UR |TIRUIN=UR |TIRVIN=UR |TIRVIN—UIK
g SYNE 0~5cmEii 0~5cm=Ei 0~5cmEii 0~5cm=Ei
41 &7 <Lk <Lk <Lk <Lk
=X 2k iR iR iR
EE AL L HL HL
252
pH 7.9 7.9 7.9 7.9
—|[coD mg/g [17.4 15.2 11.3 14.4
% RREE % 6.1 9.0 8.4 8.2
I8 (#mie” mg/g |0.47 0.40 1.06 0.24
EIERES % 36.5 48.1 46.2 450
FiE=TTEM  |mV
£ 1 g/g]20 32 28 24
AR 1 g/gl110 130 130 110
% (8% 1 g/g|17000 22000 23000 22000
B AV u g/g]250 390 390 360
EREI=PN ueg/glla 31 23 40
—v)L Ug/g
AREH L 1 g/g]0.22 0.20 0.22 0.11
2 £ 1g/g|19.5 28.8 28.6 28.1
= v 0L ue/gl<2 <2 <2 <2
15 fitR 1 e/gl5.1 6.5 5.9 5.4
2 Ik ER 1 g/gl0.05 0.09 0.10 0.10
TFILXILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
FTUOE—TEZEHug/s
| BHEBEER |ue/e
D |fEHEEREE R ue/g
hEHEER Ue/g
DEEF ue/s
T8 (I ER e Ue/'s
B £k ug/s
EX L e mg/g




AlER SO —F 33000001 33000003 33000037 13000100
RIEH R £ S %33 —1 B#h5%33—3 [E#h%33—37 [ILFHE
XEFEHH SH4E11HIR| £F45E11H9B| $#4FE11H9B| $F45F11H11H
e 12:43 12:11 9:17 12:46
SREES EERE EERE EERE EERE
B TE B &t &t &t &t
R FEABERT (FBABEGHY |(RBARRSGHY (WBAREGHF
7 A R FREAREGHZ WEARSGHT BHARSHE (BWBERESHS
Xz g 5 g 5
IKE m
im °c  |16.9 18.4 16.9 18.6
8 REKE °C
sg) HEAR °C__ 205 |20 ___ [208 172 _
g [REUE TIRUIN=UR |TIRUIN=UR |TIRVIN=UR |TIRVIN—UIK
g SYNE 0~5cmEii 0~5cm=Ei 0~5cmEii 0~5cm=Ei
5187 <)Lk <)Lk 2Lk il gl
=Xz [RERE [KERE [RERE =R
EE AL L HL L
252
pH 7.9 7.9 8.0 8.0
—|[coD mg/g |21.6 25.4 10.8 0.5
% RREE % |9.0 9.9 75 0.5
I8 (#mie” mg/g ]0.30 0.30 0.20 <0.01
EIERES % [50.0 458 46.4 18.7
FiE=TTEM  |mV
£ 1 g/gl46 130 24 7.3
AR 1 eg/gl220 240 99 39
% (8% 1 g/g|24000 24000 26000 8500
B AV 1 g/g]630 360 480 200
ENI=PN ueg/gl32 34 47 <4
—vi )L Ug/g
AREH L 1 g/2]0.28 0.30 0.08 <0.05
2 g’_n‘ 1 g/gl40.1 57.7 23.1 43
B i fitz=FN ug/sl<2 <2 <2 <2
15 7&!:[’,% Ue/gl5.2 5.7 43 <05
5 Ik ER 1 g/g]0.29 0.57 0.07 <0.01
TFILXILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]0.01 0.02 <0.01 <0.01
FTUOE—TEZEHug/s
| BHEBEER |ue/e
D |fEHEEREE R ue/g
hEHEER Ue/g
DEEF ue/s
T8 (I ER e Ue/'s
B £k ug/s
EX L e mg/g




AE# ma—F 14000230
M i & BAFE
;:J%EH H SH4%E11H11H
RIERSD 9:45
SREES EERE
AIE RS B
FEEHERS RIS R ES
S HTHEES () BARBERZ
Xz g
7K551H'€ m
SR °c  [15.3
% FEKE °C
| B m °c 140 _
g [REUE TIORVN—DFK
2 EENE] 0~5cmk i
41 &7 [
=X i)
EE HL
252
pH 8.0
—|COD mg/g 0.3
% RREE % |0.6
IE -v’f‘?\ )Il.“:q:% mg/g <0 01
EIERES % 227
FAEETEN  |mV
g ug/glad
e EiED 1e/gl33
5k (8% L g/g|7700
B|RVUAY 1 g/g1250
ENI=FN ue/gl<4
—vi )L ueg/s
HAEIDHL 1 g/g]0.05
ﬁz f/l:} ug/gl3.5
= iy OL Ue/g]2
15 [fit 3 1 g/gl0.8
2 KR 1 8/g1<0.01
TILEXILKEE [ ue/g]<0.01
PCB L g/g]<0.01

msm O &F S A

TFTUOE-TREEZH ueg/e

HFHEHMEESR |(ug/e
THREREER Ue/g
ERREESR Ue/g
2EF ue/s
I ERHE Ik ue/s
EN ue/g
EX L e mg/g




AlER SO —F 36000001 36000002
M i & [EEE =k iBiEHEP2
XEFEAH 20224£8H 108 202248 H 108
e 12:37 12:50
SREES EERE EERE
El]ﬁE*%F*ﬂ %Faa U.l I'ﬁ *EEI J.l I'ﬁ
FEEHERS (%) BRELESHZ| () BERLERE
S HTHEES (%) BARLESHZ| (%) BEAKER >
Xz Ig [
K m 14.0 16.0
R °c |325 30.5

% RREIKE °c 311 29.8

sg) HEAR °C__|286 ___ [260 _

g [REUE TIRVIN=UK |TIRUIN—DK

2 EENE] 0~5cmk i 0~ 5cmK i
41 &7 MSECYRD <)Lk
=X R R (BR) [Ef-KER)
BE&1 EmR 5
2&2 HRIEKERR
pH 7.9 8.0

—|COD mg/g |15 37

% RREE % [6.3 10.9

I8 (#mie” mg/g |0.17 0.92

EIERES % 447 67.1
FRib =T AL mV
A ue/gl16 56

A AEEN 1 e/g]63 170

L EES 1 g/g|14000 32000

B AV u g/g]340 990

EI=FN ue/sl18 17
—vr)L 1eg/gl13 27
HAEIDHL 1 g/gl0.18 0.50

e f/l:} ueg/glll 31

= v 0L ue/gl<2 <2

15 fitR us/sl2.6 6.1

2 KR 1 g/£10.04 0.12
7 ILXILIKER Ue/g
PCB 1 g/g]<0.01 <0.01
TUOE-TREER |ueg/el6.2 51

| BHEBEER 1 g/g]0.19 17

N EEFEES 1 g/g1<0.005 <0.005

| ERREER Ue/g

DEEF u g/g]550 2400

T8 (I ER e U g/gl46 100

EEI: 1 /1230 470
EX L e mg/g




